

§9.1 #18:

$$\frac{n!}{(n+2)!} = \frac{n!}{(n+2)(n+1)n!} = \frac{1}{(n+2)(n+1)}$$

§9.1 #21:

Proof by ratio:

$$\begin{aligned}\lim_{n \rightarrow \infty} \frac{5n^2}{n^2+2} &= \lim_{n \rightarrow \infty} \frac{5n^2}{1n^2+2} \\ &= \frac{5}{1} = 5\end{aligned}$$

Proof by L'Hôpital:

$$\begin{aligned}\lim_{n \rightarrow \infty} \frac{5n^2}{n^2+2} &= \lim_{x \rightarrow \infty} \frac{5x^2}{x^2+2} \\ &= \frac{\infty}{\infty} \text{ (indeterminate form)} \\ \text{L.H.} \lim_{x \rightarrow \infty} \frac{10x}{2x} \\ &= \frac{10}{2} = 5\end{aligned}$$

Proof by algebra:

$$\begin{aligned}\lim_{n \rightarrow \infty} \frac{5n^2}{n^2+2} &= \lim_{n \rightarrow \infty} \frac{(5n^2)}{(n^2+2)} \frac{\left(\frac{1}{n^2}\right)}{\left(\frac{1}{n^2}\right)} \\ &= \lim_{n \rightarrow \infty} \frac{5}{1 + \left(\frac{2}{n^2}\right)} \rightarrow 0 \\ &= \frac{5}{1} = 5\end{aligned}$$

§9.1 #30 $a_n = 8 + \frac{5}{n}$ converges

because

$$\lim_{n \rightarrow \infty} 8 = 8$$

and ~~$\lim_{n \rightarrow \infty} \frac{5}{n} = 0$~~ $\lim_{n \rightarrow \infty} \frac{5}{n} = 0,$

so

$$\lim_{n \rightarrow \infty} a_n = \lim_{n \rightarrow \infty} \left(8 + \frac{5}{n} \right)$$

because both limits exist!

$$\begin{aligned} &= \left(\lim_{n \rightarrow \infty} 8 \right) + \left(\lim_{n \rightarrow \infty} \frac{5}{n} \right) \\ &= 8 + 0 \\ &= 8 \end{aligned}$$

§9.1 #31 $a_n = (-1)^n \left(\frac{n}{n+1} \right)$ diverges

because while

$$\lim_{n \rightarrow \infty} \frac{n}{n+1} = 1,$$

the limit

$$\lim_{n \rightarrow \infty} (-1)^n \text{ does not exist (oscillation)}$$

